2" oglpd aOKNOEWV

OL TTapaKATW ACKNOELG XPNOLUOTIOLOUV TLG EVTOAEC TIOU TIEPLYPTAPOVTAL 0T SLa@AaveLa
33 tou apyeto comp_arch2 (Kepdhato 2 tou BLBALou) KAl avagePOVTaAL KaL TILO KATW.

Op-code Operand Description

1 RXY LOAD the register R with the bit pattern found in the memory cell
whose address is XY. Example: 14A3 would cause the
contents of the memory cell located at address A3 to be placed

in register 4.
2 RXY LOAD the register R with the bit pattern XY.
Example: 20A3 would cause the value A3 to be placed in register 0.

3 RXY STORE the bit pattern found in register R in the memory cell whose
address is XY.

Example: 35B1 would cause the contents of register 5 to be placed in the memory cell
whose

address is B1.
4 ORS MOVE the bit pattern found in register R to register S.

Example: 40A4 would cause the contents of register A to be copied
into register 4.

5 RST ADD the bit patterns in registers S and T as though they were two’s
complement representations

and leave the result in register R.

Example: 5726 would cause the binary values in registers 2 and 6 to be added and the
sum placed

in register 7.

6 RST ADD the bit patterns in registers S and T as though they represented
values in floating-point

notation and leave the floating-point result in register R.

Example: 634E would cause the values in registers 4 and E to be added as floating-point
values

and the result to be placed in register 3.

7 RST OR the bit patterns in registers S and T and place the result in register
R.

Example: 7CB4 would cause the result of ORing the contents of registers B and 4 to be
placed in

register C.



8 RST AND the bit patterns in register S and T and place the resultin
register R.

Example: 8045 would cause the result of ANDing the contents of registers 4 and 5 to be
placed in

register 0.

9 RST EXCLUSIVE OR the bit patterns in registers S and T and place the
result in register R.

Example: 95F3 would cause the result of EXCLUSIVE ORing the contents of registers F and
3to

be placed in register 5.

A ROX ROTATE the bit pattern in register R one bit to the right X times. Each
time place the bit that

started at the low-order end at the high-order end.

Example: A403 would cause the contents of register 4 to be rotated 3 bits to the rightin a
circular

fashion.

B RXY JUMP to the instruction located in the memory cell at address XY if the
bit pattern in register R

is equal to the bit pattern in register number 0. Otherwise, continue with the normal
sequence of

execution. (The jump is implemented by copying XY into the program counter during the
execute

phase.)

Example: B43C would first compare the contents of register 4 with the contents of
register O. If

the two were equal, the pattern 3C would be placed in the program counter so that the
next

instruction executed would be the one located at that memory address. Otherwise,
nothing would

be done and program execution would continue in its normal sequence.
C 000 HALT execution.
Example: CO00 would cause program execution to stop.

1. Moua amo TG TapaKAaTw EVTOAEG AAAAEL TA TIEPLEXOMEVA EVOG KEALOU PVIHNG;

A. 10AB, B. 20AB, I'. 30AB, A. 40AB
Antdvtnon: I



2. 2.Mouwa amo TG mapakatw eVToAEG Badet Tnv tipr} 00000000 otov Kataxwpntn
A;
A. TAQOQ, B. 2A00, I 3A00, A. 200A
Antavtnon: I

3. Moua armo TG mapakatw evtoAEg Badet tnv tipr 00000000 ctov Kataywpntn 5;
A. 25FF, B. 9555, . 15FF, A. 8555
Amavinon: B

4. TMola amo TLG TapaKAatw EVTOAEG 8€ Ba aAAAgeL Ta TtEpLEXOMEVA TOU
Kataxwpntn 5;
A. 1508, B. 2508, I'. A503, A. A508
Antdvtnon: A

5. Moua armo TG Ttapakatw eVTOAEG aAAAEL Ta TTEPLEXOPEVA TOU Kataxwpntn 7;
A. 4077, B. 4075, T. 4057, A. 37BB
Amtavtnon: I

6. Fpayte éva mpoypappa Tou TIPOCcBETEL TOUG apLtBuoug 2 34 Kat -1 1/8 Kat Toug
amoOnkeveL oTn pvpn otn StevBuvon 05. EEnyeiote GUVOTITLKA TL KAVEL N
KaOe evtoAn

01101011 (2 %) > 6B
11011001 (-1 1/8) > D9

Ipoypappa
206B
21D9
6201
3205
C000

7. Tpayte éva mpoypappa tou eKTEAEL To €§N\G. Av otn B€on pvung C2 o apLOpog
ToU €lvat armodnkeuvpévog eivat To -2 (CUPTIARPWHA WG TIPOG 2), TOTE ot B€on
pvAENG 30 va armodnkKeutel n T 21 (8eKadLkd), aAALWG va aTtoBNKEVTEL N
TN 5 otnv C3. EEnyeiote CUVOTITLKA TL KAVEL N KABE EVTOAN

FE elvar to -2

00000101 (5 dexado 1 05 610 deKOEENOKO)

00010101 (21 dexadwcd M 15 o710 dekaesadiko)

Ipoypappa

00 20FE
02 11C2
04 2215
06 B10C
08 3230
0A C000
0C 2405
OE 34C3

10 C000



